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reg_asym_saml_diff_ bpm12X_ slope vs run
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reg_asym_sam2_diff_bpm4eY_slope vs run
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reg_asym_sam3_diff bpm1X_ slope vs run
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X2 [ ndf
O +-eesreee e pO

3.846 /79

-1.112 £ 5.529

60F = e p e g

40FHTT 1+

20

_20 LI

_40 Hl-

_60 [ b RN ) R R R

_80 .............................................................................................
=00 - e

0

TN RO~ ST RO THIR LRI (M OO NS 0RO QDN (IS 0O Sthen SHD TEhan <t "Xt St

EEEEREARRER R I ERREES

pull

0.6

::| Entries
*’l Mean

Std De!

80
4242
4188

0.4

40:—
35:—
30:—
20:—
15:—

10

OEI|I|III|III|II|_I|III|III|III|III

pulllD

Entries 80

Mean 0.0001451

Std Dev  0.2193

-8

-6

-4

-2

0

2

4

6 8




reg_asym_sam3_diff_bpm4eX_slope vs run
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reg_asym_sam3_diff_bpm4eY_slope vs run
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reg_asym_sam4_diff bpm1X_ slope vs run
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reg_asym_samd4_diff_bpm4aY_slope vs run
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reg_asym_samd4_diff_bpm4eX_slope vs run
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reg_asym_samd4_diff_bpm12X_ slope vs run
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reg_asym_sam5_diff bpm1X_ slope vs run
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reg_asym_samb_diff_bpm4aY_slope vs run
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reg_asym_sam_37_avg_diff bpm4aY_slope vs run
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reg_asym_sam_48_dd_diff bpm1X_slope vs run
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